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Run 5511 quartetwise, posHQ: Beam DH

Entries: 33993 Entries: 12736 aam1_Iach._pacHo

- Laser ON Mean: 160370 +- 0.0074 Mean: 1.3981 +- 0.0017 12736
— — Laser OFF Std Dev: 1.3600 +- 0.0052 | Std Dev: 0.1940 +/- 0.0012 1.399
| S0 DBV 0.194
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Run 5511 quartetwise, asym0Osub: Beam ON
— Laser ON Entries: 33993 Entries: 12736
— Mean: 31.3130 «- 0.1033 Mean: -0.2913 +- 0.0741
— — Laser OFF Std Dev: 19.0422 +- 0.0730 | Std Dev: 8.3646 +- 0.0524
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Run 5511 quartetwise, negHO: Beam DIN

Laser ON Entries: 33943 Entries: 12736 aom1_ined_nagra
— Mean: 15.1502 +/- 0.0070 Mean: 1.4074 «- 0.0017 12736
— Laser OFF Std Dev: 1.2841 +- 0.0049 | Std Dev: 0.1945 +- 0.0012 1.407
— oo 0.1945
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-------- Histogram Vars

Positive Hel (ON): 16.036975 +/- 0.007381
Negative Hel (ON): 15.150161 +/- 0.006965
Positive Hel (OFF): 1.399114 +/- 0.001719
Negative Hel (OFF): 1.407380 +/- 0.001724
-------- Sums and Diffs

On Diff: 0.886813 +/- 0.002674

Off Diff: -0.008266 +/- 0.002104
On Sum: 31.187136 +/- 0.014101

Off Sum: 2.806494 +/- 0.002726
-------- Asymmetries
On Asym: 31.247124 +/- 0.095537 (ppt)
Off Asym: -0.291270 +/- -0.074119 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 28.380643 +/- 0.014362
BkSub Asym: 31.538394 +/- 0.120918 (ppt)




Run 5511 quartetwise, posHO vs time
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Run 5511 quartetwise, asymQOsub vs time
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Run 5511 quartetwise, negHO vs time
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Run 5511 quartetwise, bcm vs time
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